0.10 < ¢2 < 0.98 GeV'?/c*

1.1 < ¢® <2.5GeV¥ct

2.5 < ¢> < 4.0GeV?/ct

Fy, 0.263 T0:54% +0.017 0.660 15022 4+ 0.022 0.876 10309 +0.017
S —0.036 T 03 4 0.005 —0.077 13957 £ 0.005 0.035 75098 +0.007
Sy 0.082 T 558 +0.009 —0.077 £0'113 £ 0.005 —0.234 15137 4 0.006
Ss 0.170 79523 +0.018 0.137 70693 £ 0.009 —0.022 15159 4 0.008
App | —0.003 70523 £ 0.009 —0.191 75088 + 0.012 —0.118 75-082 + 0.007
Sy 0.015 73525 + 0.006 —0.219 75950 + 0.004 0.068 73135 + 0.005
Sy 0.079 79:976 ++ 0.007 —0.098 73198 4 0.005 0.030 3137 & 0.006
Sy —0.083 73558 4 0.004 —0.119 £5:987 £ 0.005 —0.092 £§-192 £ 0.007
4.0 < ¢® < 6.0GeV?/c? 6.0 < ¢? <8.0GeV%ct  11.0 < ¢* < 12.5GeV?/c?
A, 0.611 79552 + 0.017 0.579 9595 +0.015 0.493 73-599 +0.013
S 0.035 15059 + 0.007 —0.042 79038 +0.011 —0.189 5054 4 0.005
Sy —0.219 T0-08¢ 4 0.008 —0.296 70083 +0.011 —0.283 75088 1 0.009
Ss —0.146 T9-977 4+ 0.011 —0.249 70059 + 0.012 —0.327 19-57% 4 0.009
App 0.025 70623 + 0.004 0.152 70045 £ 0.008 0.318 70045 £ 0.009
Sy —0.016 15088 & 0.004 —0.047 5068 + 0.003 —0.141 15072 4 0.005
Sg 0.167 F9:99% £ 0.004 —0.085 9572 4 0.006 —0.007 9-075 £ 0.005
So —0.032 9071 + 0.004 —0.024 15059 + 0.005 —0.004 15079 + 0.006
15.0 < ¢> < 17.0GeV?/c*  17.0 < ¢® < 19.0GeV?/c!
F 0.349 70535 + 0.009 0.354 70599 +0.025
S3 —0.142 75-048 + 0.007 —0.188 0.0 +0.017
Sy —0.321 70955 4+ 0.007 —0.266 70955 4+ 0.010
Ss —0.316 70021 4 0.009 —0.323 70083 + 0.009
App 0.411 73531 +0.008 0.305 19992 +0.013
Sy 0.061 5038 +0.005 0.044 9078 £0.013
Ss 0.003 T 631 +0.003 0.013 96575 +0.005
So —0.019 75054 + 0.004 —0.094 15085 + 0.004




